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Colmkme R's and

Cs long after closing the switch § will
geq, :zg"‘;' the potential across each capacitor
2 A be reduced to 10.0 V, and (b) what
dlsckare '_:fj will be the current at that time?
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26.43 -+ CP In the circuit shown
in Fig. E26.43 both capacitors are
initially charged to 45.0 V. (a) How
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Figure E26.43
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Try these gueshons on yourown'
The Cornell synchroton imolves several disciek bunches of € and et. what
15 the implication iF i+ wee o continual steam ofe” ¥
This would be a tradihonal cuyient.
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